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SiD MAPS Digital ECal

* Comparison to SiD TDR ECal hexagonal pixels.

« Study of reconstructing pi0Os

n
o

16

Gamma energy

14

12

10

Distance between showers

Introduction

TwoShowers1
- e T - Entries 2000
C .rf'*{“ _ Mean x 2397
n - PIO energy = 20.0 GeV Mean y 0
l Ey Mass = 135 MeV StdDevx 11.86
E {f StdDevy 5704
C T
Cooa b b b o D s it e el v L1y
10 20 30 40 50 60 70 80 90 100
Dist(mm)
Two_ShowersAorentz

Shower Hex Amplitudes

ShwrHexplotOScat

Hex Amplitudes
O<Llayer<8

Event 18

” ‘ g -
".'mnlll" :

~200
~150 7400
—20i 00

X Particles =3

0_6006800_6

Showers =2

in S5iD MAPS Digital ECal.

Shower Clusters

e I
H ‘I [
o] Iljj u" "m‘ I |||

ill
i
R ‘“
0 i
-

il

Shwrplot1Scat

Clusters

O<layer<8

Event 1




Shower Clusters
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Shower Clusters
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Shower Clusters
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« Random placement of multiple electron showers:
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One fails due to lover Clusters
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Pi0s in the S1D ECal at 90 degrees
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¥ Reconstruction
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40 GeV 7V — 20 GeV vy + 20 Ge
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Conclusion - 5D -

* Comparison to SiD TDR ECal hexagonal pixels.
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